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u@d -1/PART -1 ' .
SamssgrsG P usiiisaup, (14x1=14)

2) gpyeoLw afeor_sows C5IH Q50556 OGP B1_sir afer_ulswemupd Cois sl 1p5aY15.
Note: 1) Answer all the questions.

1.

2) Choose the best answer and write option code with corresponding answer.
- f1A > B gens muné ey wpmub N(B)=7 e16flso n(A) gy eng
2) 49 3)1

1)7 4) 14
If f : A — B is a bijective function and if n(B)=7, then n(A) is equal to
1) 7 | 2) 49 1 4) 14
(a+2, 4) vpgyw (5, 2a+b) gy dw aufienss Gamig a6 SLOW aiexflev, (2, b) etsoruigy) -
1) (2, -2) 2)(5 1) 3)(2,3) . 4)(3,-2)
If the ordered pairs (a+2, 4) and (5, 2a+b) are equal then (a, b) is oo
1) (2, -2) 2) (5, 1) : 3)(2,3) ) (3, -2)
368 = (L@ T) i
17 2)368 3)52 )
368 = _(mod 7) |
1)7 2) 368 : 3) 52 ) 4
F,=1,F,=3wppub F, =F _, +F , aené Qan@ssliLiger Fo oy 68
13 , 2)5 : 3)8 4) 11
GivenF,=1,F,=3andF, =F_ +F_,thenF is .
n3 0 Hs T 38 4) 11
3y-3 7y-7

y  3y? eemwg _

9y ' 9y3 21y2 - 42y + 21 7(y? -2y + 1)
)7 2) (21y - 21) 3) 3y3 4) y2
3y-3 _ 7y- 7

y  3y? is |

3 21y2 - 42y + 21 7(y? - 2y + 1)

9y 9y L1y - eyt et y y .

5 .- 2) (21y - 21) 3) 3y? ) RN AR

£Cyp QarBaslLLLauDDIST 615 ApeTmI wrilsefles oenwng Crflw Fwerun_nEb
1y2X=2 : 2)2sinX+YcosY+ZtanZ =2

HX+2V2+Z=3 HX-Y-Z=7

- Which of the following are linear equation in three variables A .
1)2X=2 ' 2)2sinX+YcosY+ZtanZ=2
3)X+2Y2+Z2=3 ‘ HNX-Y-2=7 :
ALMN-uSlé0, ZL=60°, ZM=50° Cuogitp, ALMN ~ APQR er6afled, ZR-ullsim oy
1) 400 - “92) 700" 3) 300 4) 1100
In ALMN, ZL=60°, £M=500°. If ALMN ~ APQR then the value of ZR is
1) 400 2) 700 3) 300 ~4) 1100
AABC-uléd DE || BC, AB=3.6@\.18, AC=2.4@\&.15 1o guib AD=2.105..18 erexflev, AE-ullstn Benid
1) 1.4Ql5.18 2) 1.8Q&.15 .3) 1.2Q5.8 4) 1.05Qs..8
If in AABC, DE || BC, AB=3.6cm, AC=2.4cm and AD=2.1cm then the length of AE is
1) 1.4cm 2) 1.8cm 3) 1.2cm 4) 1.05cm

Y sipfled gy yertefl A-ulisir Qerii@ 5815 Qgnemevey 8 wppd X Si58le SIEOLWLD
ysefl B-ullen Aeniio L& Ognemeva 5 ersfiey, AB steip Cri&CanLiq.sr swemuI®

1) 8x+5y=40 2) 8x-5y=40 3)x=8 o 4)y=5

If A Is a point on the Y axis whose ordinate is 8 and B is a point on the X axis whose
abscissae is 5 then the equation of the line AB is '

1) 8x+5y=40 ©2) Bx-5y=40 3) x=8 4) y=5

(0-safigi-t
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10.  om saflsr g mGa BLh& Glgerm) Qmsﬁmu}@g@m PO ;5u®é5@lb &m@‘é@m @sm._(&u
266N SITWD 10 0@ 86T sroueny Y- 56156 o Henmen, oybS BT QIO LTS E16TLIS)
1) x=10 2) Y=10 3) x=0 . Dy
A man walks near a wall, such that the distance between him and wall is 10units. Consider
the wall to be the Y axis. The path travelled by the man is

. 1) x=10 2) Y=10 3) x=0 4) y=0
11. acot 6 + b cosec 6 = p wHgutb b cot 6 + a cosec O = g ereufled p>— G°~63 &y
.l)az—‘bz . 2)b2__az 3)a2+ b? 4)b—a :
acot® +bcosecd =pandb cot 6+ a cosec § = q then p? - g is equal to
1) a’-b? 2) b2 - a? : 3)al+ b2 - 4)b-a

12. uw 9B6GS sLLLgfen 2 sAlemba 205 o wirpsTeT sLLL SSl6u 258, sy
Awapler @néssCanemmast pepCu 300 wHmb 60° aafld LM SBEEGS
SLLL 86 e wipih ppib S sL-LLisesée DenL Gt er Qreveeurensg) (S fle)
1)20,10+/3 2) 30, 5+/3 3) 20, 10 4) 30, 10+/3
The angle of depression of the top and bottom of 20m tall -building from the top of a

multistoried- building are 300 and 600 respectively. The height of the multistoried building
and the distance between two buildings (in metres) is

1) 20,103 © 230,543 . 3)20,10 . 4) 30, 10+/3
13.  &pssrguin aps Qm o meaikismen Benemsssd of @@ UbS ST augaD HenL.&ELh
1) e memen wHmubd Gamenid 2) sior&Ganenid HMID SaldL »
3) Ganemib wHMID Falbly . 4) sabilen QenL_&&emT LD HMID eOTEGsTaTD
A shuttle cock used for playing badminton has the shape of.the combination of
1) a cylinder and a sphere 2) a hemisphere and a cone
3) a sphere and a cone 4) frustum of a cone and a hemisphere

14, @@ sralsr S elewsswrarg 3. gaGanm wHleuwb 5- 2460 QumsHenned
: SenL_&@ b yHw Frellen elevss auNsss symeflun e gy

1) 3 . 2) 15 3)5 4) 225
The standard deviat_ion of a data is 4. If each value is multiplied by 5 then the new variance is
1)3 2)15 BrS 4) 225

. o . u®d -2/PART-II
&GBoy: aCsayb LS sy aﬂamr_as@a@ wL@Bw e wellssas. (&0 1 o efsmr 28 )
Note: Answer any 10 questions. Question No.28 is compulsory. - (10x2=20)
15, f: N o Neetip sriunengy f(X)=3x+2, xeN ereo UTWNISSILL_L_T6d 1, 2, 3-uSleht Blipev

2_(HSE&HEMETE SN6T0Ts, - A @
Let f be a function f : N — N be defined by f(x)=3x+2, xeN. Find thé ima’Qes of1,2 3
16.  x+6, x+12 wpmibd x+15, eehiuen o OUMBESS QST euflensilcn Qe s
pperml 2 miiysen etenflev, X-ullslt wHiemus snerms. ® snf:,auﬂm‘ angn&&ﬁmnm
Find x so that x+6, x+12 and x+15 are consecutive terms of a
17. 13824 = 2° x 3° eraflev, @ wpmib b-uliern LIS sretms. '

If 13824 = 22 x 3° then find a and b.

Geometric progression.

; . . D . ) 7p+2
18.  Wemeumb Canemeuaaflen eflevdsiiu_L iy anm&im %

Find the excluded values of the following expressions (if any) 8027:) 1+32 5
‘ 8 +13p+ .

19, ownsafler B s wLHMIDL Gl &am e s R .

: gﬁs&run@&mmé &n%&m& ‘,‘ép, 20. Leap , Q‘M@a&uuL@mm@ @@_UW"
Determine the quadratic equations, whose sum and pr

20. w546 e ereneunpy e (PEHCEHTevE Prachict OfBl'OOtsvare =9, 20.
6119615 & 6TUTEUBTNLG,. 2OGTTENT D6V (LP(LPEHLOWINS ? A%
2_(Heunss ep(h S sevoTewTnig & glews(H
@ 66M6V Sum'r@ésgg GgemeuiL(BIb,
DN S6vuTevvrnig. &ievor(nes erflebt
Beniusenn) Qur(m S8 SUHEESS
Coemauiinen semremnig & Hlewrig.en )
Bengengs &emadl_ab. '

An artist has created a triangular stained gl R ASaG
‘An artist has created a triangular stained glass window a gy :
left before completing the window. She needs to figure oﬁ? 31? 1g"e Strip of small length

based on the lengths of the other sides as shown in the figure, - Ngth of left out portion

10~ & ewflgLb—2
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e G!E?ﬁéca’"F'-‘%m SN Igenens srews. (-8, 4) aaD yerefl eulflé Qesoaugid, oyl
: DF&sahlen Qeul B SgienHisen sioib. : ‘
Find the equation of a straight line passing through (-8, 4) and making equal intercepts on
the coordinate axes, ‘

(3, -2), (12, 4) qenp yeraflaen aufls Qosgub CrisCar® p LHDIL (6, ~2) LHDIL
(12, 2) s16tmp Lyénefiasei euiflé Qsositd CriaGan( G Sp@LD. P Sp18l I-6© BepemmunGLon?
The line p pass through the points (3, -2), (12, 4) and the line q passes through the points
(6, -2) and (12, 2). Is p parallel to g? '

23.  ew Garymb SO& G & o (G5 HN15 o_ 6T S, CanyrsSlew all‘iﬂu@.é’]“ﬂﬂﬂ@lﬁ@l 9"{"7"5'6‘)

4815, Qsrenevelies 2_cren g ysmeMlesimhal Caryy 2 sdlsn eppsCanenmd 300
stexflev, Canyrsein 2_WITS6NSS SN6ToIs. .

A tower stands vertically on the ground. From a point on the ground, which is 48m away
from the foot of the tower, the angle of elevation of the top of the tower is 30°. Find the
height of the tower. '

X=F C0s 6, y = r sin 0 etexflev X2 +y?=r2 1601 H M5
If x=r cos 8 and y = r sin 0 then prove that x2+y?=r2. ; .
25. om Garer augeu eusflsameimggyen (balloon) srpmi L;ijg,l.;ll-[®lb Gur.rgﬂ SIBET SID
12Q8.8-60m 551 160618 o5 o w®mADSL. B UpLum sl sldlsd srevs.
The radius of a spherical balloon increases from 12cm to 16cm as air being pumped into it.
Find the ratio of the surface area of the balloons-in the two cases. ,
26. 160Q&.8 oyrwenen @i 2 Ceonsl UGS, 2 GSSUULD 2Q&.18 gy rpsTen Sl
U SISeTMSSLILL_L_T6V, 615866 LibSIs6n SlenL&@w? . .
A metallic sphere of radius 16cm is melted and recast into small spheres each of radius
2cm. How many small spheres can be obtained? ,
27. &pssramibd SreysEnHsE 58 LHOID 6555 O (paneaus STeTs.
63, 89,98, 125,79, 108, 117,68 - .
Find the range and coefficient of range of the following data.
63, 89, 98, 125, 79, 108, 117, 68
28. P(A)=0.37, P(B)=0.42, P(A~B)=0.09 s1exfld, P(AUB)sé: ainevurs.
If P(A)=0.37, P(B)=0.42, P(A~B)=0.09 then find P(AUB).
: u@d - 3/ PART - III - R
iy aCoeyd LSS alamsserse w Bw el wallssan. (s L rw aefenr
%ge.fl Al?svfé%n y fbﬂ que?stion.? Question No.42 is compulsory. ; (1 0Ox5=50)
29. A eeoiugl 8- elLé @ewpeunen Fuwie sreriserlen sewtd, B s16oTLIG) 8-20 flL_& GsOmeunes
Lian sisvarsefien sewtid wnmid C srerugl SrenLLiLenL. Lst erswmsaflen sewid sleeflev,
P& UDENDE sAuNT&8. (AnB) x C = (AxC) n (BxC)
Let A = The set of all natural numbers less than 8, B= The set of all prime numbers less -
than 8, C= The set of even prime number. Verify that (AnB) x C = (AxC) n (BxC)
30. f(x)=x% g(x)=3x m;’pmub h(x)=x-2 eterflev, (fog)oh=Ffo(goh) eremr Bmieys.
If f(x)=x2, g(x)=3x and h(x)=x-2, Prove that (fog)oh=fo(goh). - ‘
3. 9® Q5 me g6 e d@&@é,@_ 1 .@56'\). 49 sumlr'Qgrn_fr&éhf.maés &56l60&8 1D
> auprisLIULH6TeT Sl QFhSledlew Gﬁl..}q.g)@ (pTTENSNS 266N S seflen agelevssniassilen
sal_(DSOZTENFLTETS] Q;ﬁ,@aﬂsiﬂ sﬂtrqupgu lﬂfmsvfgsrras men‘gﬂ(asaﬂs%r sgellevsaniaefle
sal_ (D50 STMEEGE S F6fled QapdleSen 6506 656600685 m 58 Snems.
The houses of a street are numbered from 1 to 49. Senthil’s house is numbered such that

the sum of numbers of the houses prior to Senthil’s house is equal to the sum of numbers
of the houses following Senthil's house. Find Senthil's house number? '
32,  Semeugpb Qgniseafle sa(DGmevs anevms, 103+113+123+..,....+203

Find the sum of the following series 10°+113+12%+.......+20%,

33, (1+4m?) X2 + 2mcx + (2 - a%) = 0 el SLETUTL_ 1460 pPEVEIGET S0 sTeufled
@ = a? (1+m?) sten Blpueys. ' :
If the roots of (1+m?) x* +.2mcx + (¢ ~ a?) = 0 are equal the prove that ¢ = a2 (1+m?).

1
AA(S 2 9] B={1 2
128/ |5 _y|erefled, (AB)T = BT AT stemuiengé sflunisseab.

22.

24.

34,

529

Y -7,
A“(1 2 a} 3:(1 ZJ verify that (AB)T = BT AT —
If 5 -1 . 5 b 10~&smflgpn—3
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35.

36.

37.

38.

39.

40.

41.

42.

Canent Qoo Cappsms sips Hpiays.
State and Prove Angle Bisector Theorem.

@ ellwremb edlwneor Beoeowsms LB Cubeuphs au&@ Crnéd 1000 £.18/wenf

- Caussde upsfing. oCs Crrsded LHODIM eSloremd oG8 eflwrer Heveowsms

SIL@ Culouhs Gope Crrad 1200 8.5/ well GuasSe upsdpg. 172 wewf
Crrsfneu Ype Bm alloreisenseE e Liu’ L Qgraneey sreeusnal B(HEED?
An Aeroplane after take off from an Airport and flies due north at a speed of 1000 km/hr.
At the same time, another Aeroplane take off from the same Airport and flies due west at
a speed of 1200 km/hr. How far apart will be the two planes after 12 hours?

(-4, -2), (-3, k), (3, -2) wHOID (2, 3) g flw Yamersmer auflewswns CamevrL
BrHsrSHlen Ly 28&. o0& &6 e16ufl6d k-ullenm H1Lys snetors.

Find the value of k, if the area of a quadrilateral is 28sq.units, whose vertices are taken in
the order (-4, -2), (-3, k), (3, -2) and (2, 3). |

. SX6y=2, 3x+2y=10 g dlw CrisCar@asr spHaGn yetell eufwnaayd 4x—7y+13=0

16 Cri&Gan g hEe& Qs S Fraab S Crr&CanL_iq 6T SLO6TUTL_ L5 S eTs.
Find the equation of a straight line through the intersection of lines 5x-6y=2, 3x+2y=10
and perpendicular to the line 4x-7y+13=0.

45Q5.18 2_wirapsten ST Qev_ssemn_gsHer @ yp SIS (pennGws 280115 LD DILD
7058 ererfled, BeoLssem_ s sar gemeneus sremns. o

If the radii of the circular ends of a frustum which is 45cm high are 28cm and 7cm, find the
volume of the frustum. ' :

1215 2 wipgperen &L 1q1&Ser 2_&8ulel\m b &1 Blenanys oLy 2_s8ulen gHpaGanewtd 600 -
LOHMID HiSer yiquiletr PméamaCansurip 300 sterfley, Bletgnrs Canyr S o wirsengs srewms. .
From the top of a 12m high building, the angle of elevation of the top of a cable tower is
60° and the angle of depression of its foot is 300. Determine the height of the tower.
Buein® useLaet 2 @mL L Lu@demen AerLsa0C0uDIb s wHLILEaT 50560

(1) 4-5@& swwLOr5 " . (2) 10-gg 11 Quilgna

(3) 13-g L& Gempeuns mliusparer Hapsaea) srems _

Two dice are rolled. Find the probability that the sum of outcomes is

(i) equal to-4 . (i) greater than 10 (iii) less than 13

Ox*+12x3+28x2+ax+b 6;1,“'51 SO PQPeuTssd arafled a, b o Aweupiien L smené srens.
If 9x*+12x3+28x2+ax+b is a perfect square, find the value of a and b.
‘ u@3 - 4/ PART - IV ¥

SOIL: s afamssgpase i el wellésap. i ‘ (2x8=16)
Note: Answer the following all questions. ‘ _ ,

43.

44,

1) QR=5C1z.18, ZP=30° oppid P-uleSi®581 QR-5@ eusmmuiiL L @& gi6Can e
Bend 4.2015.15 Qanerr. APQR euenga. - ' (ovg)
<) 8018 e Lpsiten e L euemrg) aul LSSt emiow S B mg) 8015,
Qgnenevellgieien P stetim Lsteflenws @ dasayib. Siusreflulles kg PA wOnIw PB
sien @ OFTOCs1BHs uenrHgl, SEupBen Bermisemens seTsH O, '
a) Construct a triangle APQR such that QR=5cm, £ZP=30° and the altitude from P to QRis
of length 4.2cm - (OR) 5

'b) Draw a circle of diameter 6¢cm from a point P, which is 8cm away from its centre. Draw

the two tangents PA and PB to the circle and measure their lengths,

') R glerllEs@LLNETE SOTS Ny SamaWLT aTisEns®E, QUME)@)1LD Peubleun
Quinm efletr L5 g 50% &6 Em LG oW éigﬁlsﬁ]éeﬂgpgu. &N58 alleneos b
& 611 (ETFLILG. & (& LON 63T EUEMTLILLD 6UEDE. Gm@!m. | A
(1) ausmpuL 5B 5 81, @ ungdenswneni T.3250-g genEnLIgWIE) QubHmTe,
H55 eSleneoens srevrs. D ik
(2) @55 edemsowneng) T.2500 erexflen, SONEDLIG WS Snetrs, (yedovgy)
) Y=X243x+2-ull6lr euemIUL LD QIDTH S, SISO LTLBSH X2+2x+1=0 stenp
FeTLT LS Sissa|b. :

a) A garment shop announces a flat 50% discount on every purchase of jtems for their .
Customers. Draw the graph for the relation between the Market Price and the Discount.
‘Hence find 3 ,

(i) the marked price when a customer gets a discount of Z.3250 (from graph)

(il) the discount when the marked price is 2.2500 (OR)
b) Draw the graph of y=x?+3x+2 and use it to solve x2+2x+1=0. :
: : 10-aamfisin-4
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